
RSPT 1050 - Module B 
 

1. Calculate the normal Vt if the patient’s ideal body weight is 160 lbs. 

kg
lbs

kglbs 772
22
1160 .
.

=×
 

mL
kg
mLkg 3645772 =×.

 
mL

kg
mLkg 5828772 =×.

 
 

2. Calculate the normal Vt if the patient’s ideal body weight is 200 lbs. 

kg
lbs

kglbs 990
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.

=×
 

mL
kg
mLkg 4555990 =×.

 
mL

kg
mLkg 7278990 =×.

 
 

3. Calculate the normal Vt if the patient’s ideal body weight is 120 lbs. 

kg
lbs

kglbs 554
22
1120 .
.

=×
 

mL
kg
mLkg 2735554 =×.

 
mL

kg
mLkg 4368554 =×.

 
 

4. If the Vt is 300 mL and the Ti is 0.8 seconds, calculate the flowrate. 

secsec.
mLmL 375

80
300

=
 

 
5. If the Vt is 600 mL and the Ti is 0.7 seconds, calculate the flowrate. 

secsec.
mLmL 857

70
600

=
 

 
6. If the Vt is 800 mL and the Ti is 2.5 seconds, calculate the flowrate. 

secsec.
mLmL 320

52
800

=
 

 
7. If the Vt is 700 mL and the Ti is 2.2 seconds, calculate the flowrate. 

secsec.
mLmL 318

22
700

=
 

 
8. If the Vt is 400 mL and the TI is 1.2 seconds, calculate the flowrate. 

secsec.
mLmL 333

21
400

=
 

 
9. If the Vt is 650 mL and the Ti is 1.5 seconds, calculate the flowrate. 



secsec.
mLmL 433

51
650

=
 

 
10. If the Vt is 900 mL and the Ti is 3 seconds, calculate the flowrate. 

secsec.
mLmL 300

03
900

=
 

 


